DMV\ Ffaq Harmom‘é OSCt‘({_a'tG\/ (SS-BJ)

/&Am?er resists motion

SN

_/nb/\—'m

mu’ = - ku - Y¥u’

EZMV\FM%
mu’+ fu +ku =0

f_]ﬂlk&i% :

mr>+ B¢ + ku =o

r= - 31 %% 4mk

ool :
2m
- __%_n + m)z:_.[_;_‘
lz-—-— okl.Sf'l'\’\'\o&'
( 70 \’ea.\ roolR
T\ repenctel
Lﬁ “m =0 rE:L rootS

(hﬂo\ra\u\\(c. o‘eﬁce_ -.

piston pushs:
4+ luid

N

Photo credit : Wikipedia
“Shock obosovber

(O\rerol&W*]?eJ )




ul/\lerAﬂm?e—l ‘
ex rooty v = - W05 - (E))

= gt LM
p= -

GICV\ Soln .
B -~ -t
wd =ce " ros(ut) + G sinpt)

= e—.g—"—t (C, CoS()A"T) + G S&\U,L'\:))

L
e ™ Aces (ut -5 )

Q\A&si—'ﬁi%i = J—,‘é\-%)l' < Wo’J%

2Tt 2E

&U\as:— ?ertao\; Trﬁ' > To = o,

Am?liquAe enelope . ¢t Ae-’g{t‘

X+

2m

Foest time +ouchinq +he W pper envelope Ae
t-5 =o, = E
p o, t=2




U am o It touches +he envelope
, A v
' like 4hs: A
Aoy 1 not like \
+wnis -

xlon +
S

Execcise : At &ny time tp st cos (pmtp -2 ) =11,
check +Hut u'(tp) £ 0

_C_n"l’t'(la\,\,é &wﬂ ; M=0O

~ L+ -3
Gen soln . (€)= e + (,te

- ot (o o)

W)

)
C, &T' A“%
N\

N '




¥ EXezcisg . Cl!\écls \L' (o) = (o - 'Eb:_n C,

% Con wse W =0 4o -anuwe owt the peak ov
botbrm of +e buwp.

UUCaL max/m:n )

Oyecdompel
{ 'L = )
real reoty : = ~am & 7' ~ "m
Gen sobr . 2
&+ EFE )b £ )t
u®=¢e + G €

both ~erms are erp. o\ewj

1 €\ _&
2m 7 (arn)’—,;

Thc grﬁrlf\ ‘ooks “EXM—Hj" ).‘ke «Hw Crl.'l'\.C&-\B Jam?e& fase

um-—-ez + (e

Iy BT
€

"zt (Amin( g +) + Bk ([B)~ & *>>



Note obowt cosh, Sinh

f\ﬂ‘-;l, nﬁ[L

X -X
CoS‘w’X = € t<¢
2 rope

X X Coclr(x
an[’lQ(: e ;e ( )

KRecall . e ix+ e X
' Cos ¥ = 2
e’ _e~*
Sinx = —
2

Comments added offer lecture (since someome o»skeaQ):

Noki ce. CoS|A’)(+§{A\Y\X = e,x

- %

Cosh x = ginhx = €

u

¥ -X
So Cie” 4+ (e

= C| (Coﬁ'\f\?( ‘["Sfr\ln K)"' C2 (COSLX "Sn’r\]fn()

= @1+C2>C05L\ x + (€. ~)sinhx

A tsshx 4+ B ¢ahx

I



